


NAME.................................................................................ADM NO............CLASS.........

TERM 1 MID-TERM EXAM 2011
MATHEMATICS FORM 3

ANSWER ALL THE QUESTIONS

1) Using logarithm tables evaluate							(4 mks)

0.06435 x 146.7
         3.592


















2) Evaluate -80 ÷2 + 12 x 30 – 40 x 6							(2 mks)













3) Given 6 < 2x + 4 < x + 8 find the integral values of x.				(3 mks)
















4) Solve for x: 2 x – 3 x 82x + 3 = 128							(3 mks)
















5) Factorize 2x2 – 3x – 2								( 2mks)









6) The size f an interior angle of a regular polygon is 400C. Find the number of sides of the polygon.										(2 mks)














7) Use reciprocal tables to evaluate							(3 mks)

     5	    +      16
0.4398	        0.249












8) Convert 0.23 to a fraction.							(2 mks)











9) The line passing through the points A (-1, K) and b (K, 3) is parallel to the line who equation is 2y + 3x = 9. Find the coordinates of A and B.						(3 mks)














10) Three bells ring after 36, 40 and 48 minutes respectively. If the bells are rang together at 7.12 am when will they ring together again?					(3 mks)












11) A flower garden is in the form of a trapezium as shown below. Find the area of the flower garden in hectares.								(3 mks)
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12) A (3, 2) is translated by translation vector   x   to give the image B (7, 5). Determine  
    Y
a) The translation vector x						(2 mks)
			            y









b) The magnitude of line AB.						(2 mks)








13)  A bus left Kericho for Mombasa at an average speed of 90 km/hr. After 40 minutes a car left Kericho to the same direction at an average speed of 120 km/h.

a) What distance was covered by the bust in 4o minutes?			(2 mks)










b) How far from Kericho did the car overtake the bus?				(2 mks)







14)  Solve for x; 	4x – 1 = 6x + 3							(3 mks)
    2             5




       



	


15) Given that sin θ = 3/5 without using a mathematical table or a calculator find;	

a) tan θ										(2 mks)








b) cos (900 - θ)									(2 mks)








16) Without using mathematical tables or calculators evaluate			(3 mks)

8002/3 x 100 1/3 x 321/2
        642/3   x 50 ½







17)  Using a ruler and pair of compasses only construct a triangle ABC in which AB = 12cm BC = 10cm and CA = 11cm.								(3 mks)






















b) Measure angles (I)     ABC								(2 mks)

			ii)     BCA

c) Drop a perpendicular from A to line BC. Let it meet BC at N. Measure AN.		(2mks)

d) Calculate the area of triangle ABC.							(2 mks)







e) What name is given to       ABC.							(1 mk)


18) 
A square PQRS has vertices P (0, 5), Q (0, 3), R (2, 3) and S (2, 5) Plot the square on the grid provided.						(2 mks)

b) Rotate PQRS through 2700 about O (0, 0) and write down the coordinates PI, QI, RI, and SI the images of P, Q, R, and S respectively.					(3 mks)







C) Draw PII, QII, RII SII the image of PI, QI, RI, SI under reflection in the line y = x.		(3 mks)


d) Calculate the perimeter of the square PQRS.						(2 mks)







19) The data below shows the height of seedlings in a nursery.

	Height in cm
	1-10
	11-20
	21-30
	31 - 40
	41 - 50
	51 - 60
	61 - 70
	71 - 80
	81- 90
	91-100

	Number of seedlings
	3
	5
	5
	9
	11
	15
	14
	8
	6
	4



a) Indicate the cumulative frequencies in the table.					(2 mks)









b) State the modal class.									(1 mk)





c) Calculate the mean height.								(4 mks)

















e) State the modal frequency.								(2 mks)







20) a) Find the angles marked by the letters a, b, c, d, e.					(5 mks)
                                             


                                                                                   


                 






  
b) Given the figure below









  


i) Calculate the surface area.								(3 mks)










	
ii) Draw the net of the solid.								(2 mks)













21) Write down the gradient of the following line.						(1 mk)

Y = 3x





b) Round the following number

687.328

i) to the nearest 100									(1 mk)





ii) to the nearest 4 dp.									(1 mk)




iii) To the nearest 3 s.f.									(1 mk)






c) The ratio of lengths of the similar iron bars are 5cm and 15cm.

i) What is the ratio of their areas?							(2 mks)







ii) If the volume of the smaller is 9 cm, wht is the volume of the bigger one?	(4 mks)
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